WONDER 5i&"" 15014001 1509001 15045001 @ (@ € M. RoHs
T Symchronigation with the futine

F{EBRS SSWE R75)

BERN =R REMNETXEN (IE4)




BEEM=ERT R

FEaniBER :

F&0S SSWE &5 =54 B EH2
FEHuNEBBEN NN, RIS
IEC60034-30; 2014 B9 IE4 4K,

FiEmStRE =R BT R ATER
IR TALATS, SKINSE, SR, B,
SR, MR, WA, BEE. ATHEA. B
. T,

FiEmSERENEET kR, EEN. &
BHE. RERS. KA. FEN. SaNm. &
BALL. AN E— R 8BRS .

FiERSREZ AT BMFE:
-1P55 BAiPELR, F R4, BRIRF, S1 TIEH
- BRE BB E 400V,
- BRESMER 50Hz;
CIBITHIRRE: -20°C~40°C;
- IBTER < lOOOm;
- THEE 3kW R LATERHLA Y EZ A
4kW KA EBHA A EEAR;
- AEIAT: 1C411 5 1C416,

=]
TEFN:
IM B3 IM V5 IM V6 IM B6 IM B7 IM B8
IM 1001 IM 1011 IM 1031 1051 IM 1061 IM 1071
SSWE
IM B35 IM V15 IM V36
IM 2001 IM 2011 IM 2031 IM 2051 IM 2061 IM 2071
SSWE
IM B5 IM V1 IM V3
IM 3001 IM 3011 IM 3031

SSV\/E

***E—ﬂﬁﬁﬁ??ﬁﬁm TRERES
1) wE Y MREAS, |EC600347¢!9E%A$E><
2) BH*IMV3, IMB6, IMB8 HIZREAAIIDIAEZHIA.



SSWE R5IBESM=107T BRI FXBNEARKE (1/2)

b -3
hE _ il Wb titisid p—
o T | FERE e
HEE = J(kgm?)

IL/ln | TL/Th

11 15 160M 2945 19.50 926 925 910 088 083 0.72 7.8 2.2 3.7 69 0.066 132
15 20 160M 2945 26.40 933 931 920 088 083 0.72 8.2 2.2 3.8 69 0.068 150
185 20 160L 2945 32.00 937 935 920 089 084 0.72 8.1 2.2 3.8 69 0.076 175
22 30 180M/L 2955 38.40 940 938 925 088 083 0.72 8.0 2.5 3.2 70 0.173 220
30 40 200L1 2970 51.50 945 941 928 089 084 0.74 8.0 2.6 3.2 73 0.193 285
37 50 200L2 2980 63.30 948 946 930 050 085 0.74 7.8 2.8 3.5 73 0.203 315
45 60 225M 2980 75.9 950 948 930 089 086 0.74 8.9 2.5 35 75 0.411 357
55 75 250S/M 2980 93.6 953 951 941 089 085 0.73 8.2 2.3 3.5 78 0.435 518
75 100 280S 2980 127.0 956 952 943 090 086 0.75 7.8 2.3 3.2 IE] 0.743 590
90 125  280M 2980 151.0 958 955 948 090 086 0.76 7.6 2.5 32 79 0.823 685
110 150 3158 2980 184.0 96.0 958 95 090 085 0.76 7.6 2.3 3.6 80 1.64 1078
132 175  315M 2980 220.0 962 9.0 95 090 087 0.76 77 2.3 3.5 80 1.78 1138
160 215 315M/L 2980 266 963 961 951 090 087 0.76 7.6 2.4 3.5 82 1.97 1278
200 270 315M/L 2980 332 965 963 954 090 087 0.76 8.1 2.3 33 83 231 1419
250 335 355M/L 2980 415 965 962 953 090 087 0.76 8.2 2.3 3.5 83 39 1914
315 420 355M/L 2980 524 965 962 953 090 087 0.77 8.9 2.8 3.8 83 4.01 2132
11 15 160M 1475 20.5 933 931 922 083 077 0.67 8.8 33 3.4 60 0.108 147
15 20 160L 1475 27.8 939 938 929 083 079 0.70 9.0 3.6 3.8 60 0.109 171
185 25  180M/L 1475 34.2 942 940 930 083 076 0.68 7.9 2.3 3.8 65 0.159 137
22 30 180L 1475 40.5 945 943 933 083 076 0.68 8.5 23 3.7 65 0.193 153
30 40 200L1 1480 54.3 949 947 937 084 078 0.69 7.3 1.9 3.7 68 0.311 319
37 50 2255 1480 66 952 950 940 085 079 0.70 7.8 2.4 3.2 68 0.612 393
45 60 225M 1480 80.1 954 951 941 085 079 0.70 8.3 2.7 3.2 68 0.679 406
55 75 250S/M 1485 97.6 957 956 948 085 079 0.70 8.3 2.4 3.0 69 0.841 517
75 100 280S 1485 131 96.0 96.0 952 086 079 0.70 7.9 2.1 2.9 70 1.53 656
90 125  280M 1485 157 961 96.0 950 086 079 0.70 7.8 2.2 3.0 70 177 720
110 150 3158 1490 185 9.2 961 951 089 081 071 7.3 2.1 31 4 4.01 1128
132 175 315M 1490 222 9%.4 962 953 089 081 0.9 7 2.0 3.0 4 3.74 1199
160 215 315M/L 1490 269 96.6 964 955 089 081 0.69 77 2.3 3.2 4 7.56 1367
200 270 315M/L 1490 335 96.7 965 956 089 082 0.69 7.9 2.1 3.0 4 5.16 1351
250 335 355M/L 1490 419 96.7 965 955 089 086 0.73 8.0 2.1 2.8 80 8.06 2025

315 420 355M/L 1490 528 96.7 965 955 089 088 0.73 8.0 2.4 3.0 80 8.76 2420



SSWE R5IBESM=107T BRI F BN EARKIE (2/2)

15

18.5

22

30

37

45

55

75

90

110

132

160

200

250

20

25

30

40

50

60

75

100

125

150

175

215

270

335

160M
160L
180L
200L1
200L2
225M
250S/M
280S
280M
315S
315M
315M/L
315M/L
355M/L
355M/L

355M/L

970

975

980

980

980

985

980

980

980

980

990

990

990

990

995

995

158

229

29.9

35.7

424

56.1

67.3

81.6

994

137

162

200

239

279

353

440

91.0

92.2

92.7

93.0

93.4

93.9

94.0

94.8

94.9

95.3

95.6

95.4

95.6

96

96.3

96.6

0.75

0.75

0.78

0.80

0.82

0.84

0.84

0.84

0.84

0.83

0.84

0.83

0.83

0.86

0.85

0.85

0.69

0.67

0.70

0.73

0.73

0.76

0.76

0.78

0.79

0.78

0.80

0.8

0.81

0.83

0.82

0.83

0.60

0.59

0.61

0.64

0.63

0.63

0.66

0.68

0.71

0.73

0.72

0.74

0.75

0.78

0.80

0.81

HEEE R
TERT

IL/In

7.0

7.0

8.5

1.4

7.0

7.0

8.0

8.0

7.0

7.0

7.0

7.0

7.0

7.0

7.3

7.0

JEIIREE
BETEE

TL/Th

2.5
3.0
3.0
2.8
2.5
2.2
2.8
2.8
2.0
2.0
2.0
2.0
2.0
2.3
2.0

2.0

2.8

31

3.4

2.9

2.6

2.3

3.4

33

32

2.6

2.6

2.6

2.6

2.5

2.4

2.4

56

56

59

59

59

59

60

60

68

69

70

70

70

70

70

75

HiiRE
J(kgm?)

01
016
037
0.38
0.44
0.73
011
175
1.99
3.68
495
5.76
5.79
9.96
115

12.6

138

162

239

280

300

359

500

586

631

1170

1197

1420

1420

1980

2033

2234



SSWE 7% B3 jMERERTE

:

HO

|
b,
@D

|
I
e
|
|
|
BAC

AA

HA
S
=

B1 AB

I Lo o c o el e ln el on [ mum i om0 L
160M 2~8 254 210 / 108 42 110 12 370 160 15 M16X36 450 64 315 314 241 20 401 260 256 630
160L 2 254 254 /108 42 110 12 370 160 15 MI16X36 450 64 315 314 241 20 401 304 256 674
160L 4~8 254 254 /108 42 110 12 370 160 15 M16X36 450 64 315 314 241 20 401 304 256 674
180M/L  2~4 279 241 279 121 48 110 14 425 180 15 MI16X36 515 68 351 355 262 22 442 349 271 722
180L/M  4~8 279 241 279 121 48 110 14 425 180 15 MI16X36 515 68 351 355 262 22 442 349 271 752
200L 2 279 305 / 133 55 110 16 490 200 19 M20X42 59.0 70 388 397 344 25 544 369 296 804

200L 4~8 279 305 / 133 55 110 16 49.0 200 19 M20X42 59.0 70 388 397 344 25 544 369 296 804

2258 4~8 318 286 / 149 60 140 18 53.0 225 19 M20X42 640 79 430 445 368 29 593 361 329 852
2 3% 311 / 149 55 110 16 490 225 19 M20X42 59.0 79 430 445 368 29 593 386 299 846

2N 4~8 356 311 / 149 60 140 18 530 225 19 M20X42 640 79 430 445 368 29 593 386 329 877
2 406 311 349 168 60 140 18 530 250 24 M20Xx42 640 97 484 484 374 32 624 445 348 911

#Os 4~8 406 311 349 168 65 140 18 580 250 24 M20X42 69.0 97 484 484 374 32 624 445 348 911
2 457 368 /190 65 140 18 580 280 24 M20X42 69.0 85 542 546 403 35 683 485 357 965

2008 4~8 457 368 / 190 75 140 20 67.5 280 24 M20X42 795 85 542 546 403 35 683 485 357 965
2 457 419 /190 65 140 18 580 280 24 M20X42 69.0 85 542 546 403 35 683 536 357 1016

200 4~8 457 419 / 190 75 140 20 67.5 280 24 M20X42 795 85 542 546 403 35 683 536 357 1016
2 508 406 / 216 65 140 18 580 315 28 M20X46 69.0 120 628 620 493 45 808 570 397 1201

0 4~8 508 406 / 216 80 170 22 710 315 28 M20X46 850 120 628 620 493 45 808 570 427 1231
2 508 457 508 216 65 140 18 580 315 28 M20x46 69.0 120 628 620 493 45 808 680 397 1311

ot 4~8 508 457 508 216 80 170 22 710 315 28 M20X46 850 120 628 620 493 45 808 680 427 1341
— 2 610 560 254 254 75 140 20 675 355 28 M20X46 795 120 726 698 593 45 948 750 425 1501

4~8 610 560 254 254 95 170 25 86.0 355 28 M24X56 100.0 116 726 698 593 52 948 750 455 1531



SSWE %% B35 SMERERTE

Al Al AD

$p

BN

1

1l

AN [y

i

T
BAC

HA

HO

HA

AA

I @
11

HOD

AR

HE0-200 H225-355

RERT (mm)

e e oe Ll le e ] o fau oo

160M  2~8 4-019 M16X36 20 401 260 256

160L 2 254 254 / 108 42 110 12 37 160 15 300 250 350 4-®19 5 MI16X36 45 64 315 314 241 20 401 304 256 674

160L 4~8 254 254 / 108 42 110 12 37 160 15 300 250 350 4-®19 5 M16X36 45 64 315 314 241 20 401 304 256 674

180M/L  2~4 279 241 279 121 48 110 14 425 180 15 300 250 350 4-®19 5 MI16X36 51.5 68 351 355 262 22 442 349 271 722
180L/M  4~8 279 241 279 121 48 110 14 425 180 15 300 250 350 4-®19 5 MI16X36 51.5 68 351 355 262 22 442 349 271 752
200L 2 318 305 / 133 55 110 16 49 200 19 350 300 400 4-®19 5 M20X42 59 70 388 397 344 25 544 369 296 804

200L 4~8 318 305 / 133 55 110 16 49 200 19 350 300 400 4-®19 5 M20X42 59 70 388 397 344 25 544 369 296 804

2255 4~8 356 286 / 149 60 140 18 53 225 19 400 350 450 8-®19 5 M20X42 64 79 430 445 368 29 593 361 329 852

2 3% 311 / 149 55 110 16 49 225 19 400 350 450 8-®19 5 M20X42 59 79 430 445 368 29 593 386 299 846

2N 4~8 35 311 / 149 60 140 18 53 225 19 400 350 450 819 5 M20X42 59 79 430 445 368 29 593 386 329 877
2 406 311 349 168 60 140 18 53 250 24 500 450 550 8-®9 5 M20X42 64 97 484 484 374 32 624 445 348 911

s 4~8 406 311 349 168 65 140 18 58 250 24 500 450 550 8-P19 5 M20X42 64 97 484 484 374 32 624 445 348 911
2 457 368 / 190 65 140 18 58 280 24 500 450 550 8-®19 5 M20X42 69 85 542 546 403 35 683 485 357 965

2000 4~8 457 368 / 190 75 140 20 67.5 280 24 500 450 550 8-®19 5 M20X42 795 85 542 546 403 35 683 485 357 965

2 457 419 / 190 65 140 18 58 280 24 500 450 550 8-®9 5 M20X42 69 85 542 546 403 35 683 536 357 1016

200 4~8 457 419 / 190 75 140 20 67.5 280 24 500 450 550 8-®19 5 M20X42 795 85 542 546 403 35 683 536 357 1016
2 508 406 / 216 65 140 18 58 315 28 600 550 660 8-®24 6 M20X46 69 120 628 620 493 45 808 570 397 1201

0 4~8 508 406 / 216 80 170 22 71 315 28 600 550 660 8-®24 6 M20X46 85 120 628 620 493 45 808 570 427 1231

2 508 457 508 216 65 140 18 58 315 28 600 550 660 8-®24 6 M20X46 69 120 628 620 493 45 808 680 397 1311

o 4~8 508 457 508 216 80 170 22 71 315 28 600 550 660 8-®24 6 M20X46 85 120 628 620 493 45 808 680 425 1341
2 610 500 254 254 75 140 20 675 355 28 740 680 800 8®d24 6 M20X46 795 120 726 698 593 52 948 750 425 1501

o 4~8 610 560 254 254 95 170 25 86 355 28 740 680 800 8-®24 6 M20X46 100 116 726 698 593 52 948 750 455 1531

R=0 NN EECE EEIH BB RIERS



SSWE 7% B5 JMERERTE

LA

I — O
T J 1\
V0 N
Vh//‘. %@ — — —r—T3
& 9

H80-200 H225-355

SMERERST (mm)

110 12 37 300 250 350 314 401 15 256 630

160M 2~8 42 4-019 5 M16X 36 45

160L 2 42 110 12 37 300 250 350 4-019 5 M16X36 45 314 401 15 256 674
160L 4~8 42 110 12 37 300 250 350 4-019 5 M16X36 45 314 401 15 271 674
180M 2~4 48 110 14 425 300 250 350 4-019 5 M16X36 51.5 355 442 15 271 722
180L 4~8 48 110 14 425 300 250 350 4-019 5 M16X36 51.5 355 442 15 296 752
200L 2 55 110 16 49 350 300 400 4-019 5 M20 X 42 59 397 544 17 296 804
200L 4~8 55 140 16 49 350 300 400 4-019 5 M20 X 42 59 397 5444 17 329 804
225S 4~8 60 110 18 53 400 350 450 8-®19 5 M20X42 64 445 593 20 329 852
2 55 140 16 49 400 350 450 8-19 5 M20X42 59 445 593 20 299 846

oM 4~8 60 140 18 53 400 350 450 8-919 5 M20Xx42 64 445 593 20 329 877
2 60 140 18 53 500 450 550 8-®19 5 M20 X 42 64 484 624 22 348 911

05/ 4~8 65 140 18 58 500 450 550 8-019 5 M20x42 69 484 624 22 348 911
2 65 140 18 58 500 450 550 8-019 5 M20 X 42 69 546 683 22 357 965

2000 4~8 75 140 20 675 500 450 550 8-019 5 M20 X 42 79.5 546 683 22 357 965
2 65 140 18 58 500 450 550 8-019 5 M20 X 42 69 546 683 22 357 1016

2000 4~8 75 140 20 675 500 450 550 8-®19 5 M20Xx42 79.5 546 683 22 357 1016
2 65 140 18 58 600 550 660 8-924 6 M20 X 46 69 620 808 22 397 1201

0 4~8 80 170 22 71 600 550 660 8-024 6 M20X 46 85 620 808 22 427 1231
2 65 140 18 58 600 550 660 8-024 6 M20X 46 69 620 808 22 397 1311

SOt 4~8 80 170 22 71 600 550 660 8-024 6 M20X46 85 620 808 22 427 1341
2 75 140 20 675 740 680 800 8-024 6 M20 X 46 79.5 698 948 25 425 1501

ot 4~8 95 170 25 86 740 680 800 8-024 6 M24 X 56 100 698 948 25 455 1531

R=0 "N SGEC A EEI BB RIIERS



SSWE &% V1 {MERERTE

W

160M
160L
160L
180M
180L
200L
200L

2258

225M

250S/M

280S

280M

315S

315M/L

355M/L

2~8

2

4-8

2~4

4~8

2

4-8

4-8

4-8

2

4~8

2

4-8

2

4-8

2

4~8

2

4~8

42

42

42

48

48

55

55

60

545

60

60

65

65

75

65

75

65

80

65

80

75

95

ATh,
«E%%
EANS,
&)

m &

110

110

110

110

110

110

140

110

140

140

140

140

140

140

140

140

170

140

170

140

170

1D

20

=L [\

LA

12

12

14

14

16

16

18

16

18

18

18

18

20

18

20

18

22

18

22

20

25

BN

2P

37

37

42.5

42.5

49

49

53

49

53

53

58

58

67.5

58

67.5

58

71

58

71

67.5

86

R=0 NG EC S EEI MR RIIERS

300

300

300

300

350

350

400

400

400

500

500

500

500

500

500

600

600

600

600

740

740

250

250

250

250

300

300

350

350

350

450

450

450

450

450

450

550

550

550

550

680

680

110 12 37 300 250 350

350

350

350

350

400

400

450

450

450

550

550

550

550

550

550

660

660

660

660

800

800

4-019
4-019
4-019
4-019
4-019
4-019
4-019
8-019
8-019
8-019
8-019
8-$19
8-919
8-19
8-®19
8-®19
8-024
8-024
8-024
8-024
8-924

8-024

5

H80-200

M16X36

M16X36

M16X36

M16 X 36

M16X36

M20Xx42

M20 X 42

M20X 42

M20X 42

M20 X 42

M20X42

M20X42

M20Xx42

M20Xx42

M20 X 42

M20X 42

M20X 46

M20 X 46

M20 X 46

M20 X 46

M20 X 46

M20 X 46

45

45

45

59

59

64

59

64

64

69

69

69

85

69

85

100

“
314 401 15 256 630

314

314

355

355

397

397

445

445

445

484

484

546

546

546

546

620

620

620

620

698

698

H225-355

401

401

442

442

544

544

593

593

593

624

624

683

683

683

683

808

808

808

808

948

948

15

15

15

15

17

17

20

20

20

22

22

22

22

22

22

22

22

22

22

25

25

256

256

271

271

296

296

329

299

329

348

348

357

357

357

357

397

427

397

427

425

455

674

674

722

752

804

804

852

846

877

911

911

965

965

1016

1016

1201

1231

1311

1341

1501

1351



SWE R5hiHE S

B E G ]
NES

80 620527/C3 620527/C3 6205227/C3 620527/C3
90 6206 2Z/C3 6206 2Z/C3 6206 2Z/C3 6206 2Z/C3
100 6206 27/C3 6206 27/C3 6206 27/C3 6206 27/C3
112 6207 2Z/C3 6207 2Z/C3 6207 27/C3 6207 27/C3
132 620827/C3 620827/C3 620827/C3 620827/C3
160 6209 27/C3 6209 27/C3 6209 27/C3 6209 27/C3
180 6211/C3 6311/C3 6211/C3 6211/C3
200 6212/C3 6312/C3 6212/C3 6212/C3
225 6312/C3 6313/C3 6312/C3 6312/C3
250 6313/C3 6314/C3 6313/C3 6313/C3
280 6314/C3 6317/C3 6314/C3 6314/C3
315 6317/C3 Nu319 6317C3/7317B(V1) 6319C3/7319B(V1)
355 6319/C3 Nu322 6319C3/7319B(V1) 6322/7322B(V1)

BIANERX A H. SRRANHEELT, BIERARE NU RFIHH,

SWE RFE&ER~T

80-100 2-M25X1.5 112X112X56
112-132 2-M32X1.5 140X 140X 64
160-180 2-M32X1.5 170X 180X 77
200-225 2-M50X 1.5 226X240X139
250-280 2-M63X 1.5 235X250X124.4
315 2-M63X 1.5 300X320X153.5

355 2-M63X 1.5 350X380X192.5



WONDER &%

% 31988

M EBRSBRATE

ik EEARMTEFAREKRIRERKFK 120 5
kR : www.wonderfz.com

IiRFE: wonder@wonderfz.com

BXZAMIE: 0591-83998899

I fEER: 0591-83998666

REREBIBRAE

it BRAERENBETIRXIGAR 239 5
®JkFLL: www.wonder-cn.com

ALERFS: wonder@dayu-casting.com
BXZHiE: 0593-6379666 6379988

ilkfEE: 0593-6379999

FBERENBEEBRATE
Hink: _ESHITOXFER 203 SKE 2308 =
kBB : shpld@126.com

BEZAHIE: 021-65355573
EIfER: 021-65460669

4 —
FHEBSSRALLEF
Husik: No.11, Jalan Meranti Jaya 16, Taman Meranti Jaya
Industrial Park, 47120 Puchong, Selangor, Malaysia
ILEB#E: sales@wonderelectric.com.my
EXZHiE: +603-8063-9399

HiEBESHINEAE

#bfk: No. 111, Neythal Road, Singapore, 628598
Il #BFE: wondersg@singnet.com.sg
EXZHiE: +65-6265-8698



